)

erastionsl Trade iasuss $Study = 2-723-08 Psge 3

3.

A number of statements have been made about Canada’s ability to compete in
world markets. Using a 7 point scale whare “1" means you "Completely
Disagree" and "7" means that you "Agree Completely”, how would you rate
each of the following stataments? (READ LIST - ROTATE FROM X)

Completely Completely (OK/
re

Oisaqree Agree NS)
l..... 2000 ... 4..... S..... 6..... Tooivionnn, 9

. The government of

Canada should take

action to protect

Canadian business

and industry by

limiting the amount

of foreign goods

sold here even

ff 1t means Canadfans )

will pay more for

thefrproducts.....cc.... 9..... 8..... 11...15..... 21....16....19......... 1

. The government of Canada

has an overall plan for
improving Canada’s
internationaltrade...... 11....13,...15....18....21....8..... 8. i, 5

END ROTATION

Who do you see as having the greatest responsibility for helping Canadians
adjust to changes in the global economy. (READ AND ROTATE LIST... CIRCLE
ONE RESPONSE ONLY).

_ The federal government......... 45
__ The provincial government....... 9
_ Business.........c.ioiiiian, 28
— Unfons.........aiiiiiiiina, 5
Other)........... heiraesas N
(OK/NS) . i ieeiieerentenrennrnnns 4

Do you feal that the federal government i. doing a very good job, a good
Job, a poor job, or a very poor job in helping Canadians adjust to changes
in the global economy?

A very good job......ecii0ntn creians 1
Agood Job....iviiiiiiiiiiiiiiriann 29
Apoor JOb..ivveriiniinveiniironnss 45
A very poor job.......... tretesesan 22

(OK/NS ) e v e vvenreennnrnneenennnes 3




